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‘These are’; to exclude from Rabbi Eliezer who holds one liable for a
Tuldoh in the place of an Ahv

OVERVIEW

After enumerating the forty nine nmax%», the mawn concludes, ‘these are’, etc. The
8 mx explains that the words 9% »37' teach us that he is only 21 for these v"?
naxon,! but if he transgressed »wa a 77210 with its 2X he is only 2*11 one nxwvn for
both.

nvoIN asks:
- 23194 1Y 1999IY RYIII IIND ON)

And if you will say; we know this from the beginning of the P75, where the first

s stated -
= HNAN NON 2990 199N 3NNN NINDN P¥N NN MANDN HYIYH

‘One who does many nox%» which are similar to one 71o8%%; he is only liable
for one nxvr’.

nBoIN answers:
= /N AARND MTDIN YNV 13D NN NININ YN IRP 9917 0IYI91D YN

And there are those who explain that this is what the first 71» means when it

stated NN 7oK Py that is two MT9IN from one 2X; in that case he is only 271 one

nxvn (since all he did were the m771n) -
£19 ¥PYN SRD NN 29N NYTHT NI ANA YN

However if he were to do the 28 and its 77790 we may have thought that he is 291
two nxvn, therefore our 771w teaches us that even in this case he is 2°1 only one nXvr.

SUMMARY

! This means that it is possible to be 211 up to nxun v"> (even) if they were all done nX v, but not more than
©Y, because one is not 28 2PHA IT2INR 270.
2 R,M0.
3 This is (seemingly) understood to mean that if he did the 28 (which is the nfR 79X89» 1°vn) and together with the ax
he did many m72n (the 71277 N1RYA 7ww), he is 2°1 only one nXvn so we already know that one is not liable for a
2R 0P 17710; why did our mawn have to teach this again.
4 The 0w on W argue that we need not understand the first 7wn as explained in footnote # 2; rather the mwn can
mean that he is 21 one nxvn if he did many mM7723n of one 2, but not necessarily if he did an ax and its 77710.
5> Our mwn teaches that there cannot be more than TR 0%v72 MRLA B"Y, forcing us to accept that there is no NXYA 21N
separately for a 2R3 DPH2 772I0.
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We can interpret the mawn of 121 7277 MOKRY 7w to mean he did many M7 0 of
one ax, therefore our mwn teaches that even when transgressing an 2X and its 777210,
he is still only 211 one nXwr.

THINKING IT OVER
How can we understand that even if we are 2> only one nXun for doing two M7
of one ax, nevertheless one will be 2°°1 two nxwvn if he did the 2K and its 7791n?
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